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2N AEDED
Ha: ALY =X
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JIZHHZ2XREES 8,898 16,049 AT, 151
OEREES I HREX U2 8,898
-= 66,8003 * 18 » 120 8,016
-AHEE D223 8,016,000& » 11% 882
PR B e PN 13,359,370 9,454,230 3,905, 140
= 190,000
i 13,169,370
TEEZHEAMY 4,075,000 2,224,000 1,851,000
Ea==i U E=—=g= PP, 75,000 24,000 51,000
202 od4dl 5,000 4,000 1,000
01 = LH 4 bl 5,000 4,000 1,000
OE2HR FAHH 5,000,000& 5,000
401 AIEHI L 2 CHYI 70,000 20,000 50,000
01 A& HI 70,000 20,000 50,000
Ozt 0I=8X EXNEd 70,000,000 70,000
SS-UHOR 2EEZEAY 200,000 200,000 0
401 AIEHIZL 20 200,000 200,000 0
01 A& Bl 200,000 198,560 1,440
OSS-UWoHZE 118)2 2SI E 1=0.5km
200,000,000 200,000
AME-Z2L2E 2SS T EAY 1,000,000 500,000 500,000
401 AIEHI L 2 CHYI 1,000,000 500,000 500,000
01 A& HI 993,700 496,400 497,300
OME-B84(ZE 188)2 2 E&HZE L=0.6km
993,700,000& 993,700
03 A& =2 THHI 6,300 3,600 2,700
OANE-8LH(ZE 188)2 ZEE8XLE
1,000,000,000& * 0.63% 6,300
sU-=20H2 2= ZFAY 1,300,000 0 1,300,000
401 Al HIZ 201 8] 1,300,000 0 1,300,000
01 A& HI 1,295,320 0 1,295,320
O=zt-2U(=Z& 188)2 ZE&ZE L=0.4knm
1,295,320,000& 1,295,320
03 Al 2 THHI 4,680 0 4,680
o=l-2U(z% 1838)2 2E&8XH
1,300,000,000& * 0.36% 4,680
H2-UH=22t 2 EZEAMY 400,000 400,000 0
401 Al HIZ 2018 400,000 400,000 0
01 A& HI 397,120 397,120 0




AN A4S0
M NYCALHTR
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUZ-H=2(2< 1833)2t ==X F 1=0.5km
397,120,000 397,120
03 Al 2 THHI 2,880 2,880 0
oU=s-U=a(== 138)2 28X H
400,000,000& * 0.72% 2,880
Hl &t-Hl A2 2= T AL 500,000 500,000 0
401 Al HI K 201 I 500,000 500,000 0
01 A& HI 496,400 496,400 0
OHl&-HId (2 & 185)2t 2 =& X F 1=0.8km
496,400,000 496,400
03 AIE 2 THHI 3,600 3,600 0
Oflat-gIdH (2 188)2 2 & X H
500,000,000& * 0.72% 3,600
Y-S s2 ST TALSY 300,000 0 300,000
401 AIEHI L 2 CHEI 300,000 0 300,000
01 A& Bl 297,840 0 297,840
OLM-Z2S (2= 73)2 2= EFH [=0.4knm
297,840,000 297,840
03 Al 2 THHI 2,160 0 2,160
OLM-ZS (2L 78)2 28X H
300,000,000& * 0.72% 2,160
LHAH-LH A2 2SS A ALY 300,000 500,000 A 200,000
401 AIEHI L 20 300,000 500,000 A200,000
01 A& HI 297,840 496,400 A 198,560
OWA-LHA(ZE 198)2 2SS ZE L=1.5km
297,840,000 297,840
03 Al =2 THHI 2,160 3,600 A 1,440
OUA-LIAH(Z S 198)2 ZE &8 X E
300,000,000& * 0.72% 2,160
sHEE=SLE 4,250,000 4,070,000 180,000
sHEEZ=20=2EX 24 50,000 20,000 30,000
401 Al HIZ 201 8] 50,000 20,000 30,000
01 A& HI 50,000 20,000 30,000
OsHEE=Z DI=2EX EXNE4 50,000,000 50,000
S8 SHEEZSHEITAY 300,000 200,000 100,000
401 AIEHIZL 20 300,000 200,000 100,000
01 A& HI 300,000 198,560 101,440
Os8-z& (=% 30538)2 sHEZZERH L
=0.5km 300,000,000 300,000
M-I SHEEZZEZTAY 1,500,000 500,000 1,000,000
401 AIEHI L 2CHYI 1,500,000 500,000 1,000,000
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ANgeAdaad
SHEZEETY
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SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 Al&H| 1,494,600 496,400 998, 200
OMM-ZIHHET 1045)2 sSHEZ2SZE |
=0.5km 1,494 ,600,000& 1,494,600
03 AlE 201 Y| 5,400 3,600 1,800
OMNM-Z2IHHE 1045)2 sSHEC 2SS L E
1,500,000,000& = 0.36% 5,400
PH-PHZ2 sSHEZZEHIZIEHAS 300,000 200,000 100,000
1AL H Y20 300,000 200,000 100,000
01 A& H| 297,840 198, 560 99,280
OFA-RAH(BIE 2188)2 sSHEE2EHETH L
=0.5km 297,840,000 297,840
03 Al&E 201 Y| 2,160 1,440 720
ORH-2H(2lE 2188)2t sSHEEZ2 ST E
300,000,000& * 0.72% 2,160
SE-SZEU4 SHEEZTZEHIHAY 300,000 0 300,000
401 A& HI L 204 HI 300,000 0 300,000
Al & H| 297,840 0 297,840
O8E-8=(2lk 2118)2 sHEZ2E T H L
=0.6km 297,840,000 297,840
03 Al 201 Y| 2,160 0 2,160
ORE-R=(2IE 2118)24 SHEEZSHIX
300,000,000& * 0.72% 2,160
OLE-AIE2t SHESTZEH I ALY 300,000 200,000 100,000
401 Al HI L E0HHI 300,000 200,000 100,000
01 A& H| 297,840 198, 560 99,280
Odtg-ag (el 2013)2 sHEZ2SZTH L
=0.3km 297,840,000 297,840
03 Al 204 Y| 2,160 1,440 720
Odte-ag(2l& 2018)2t sSHEEZ2S TR
300,000,000& * 0.72% 2,160
22H-AE2H SHECZEEZHANY 200,000 300,000 A 100,000
401 Al HI L £ 0HHI 200,000 300,000 A 100,000
01 Al& B 198,560 297,840 A 99,280
O24-%4(2E 2173)2t SHEEZZ2SIE |
=0.8km 198,560,000 198,560
03 A& E20HH| 1,440 2,160 AT20
Og4-244 (2 2178)2 sHEZ2S T
200,000,000 * 0.72% 1,440
EHM-422t sHESZEHIHAIY 300,000 300,000 0
401 AlEHIZL £ 0HY| 300,000 300,000 0
01 Al&EH| 297,840 297,840 0
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OHM-H2(HE 1045)2 sHEEZEEE L
=0.8km 297,840,000 297,840
03 Al 2 THHI 2,160 2,160 0
OHM-82(HE 1043)2t sHEZZEHEZH
300,000,000& * 0.72% 2,160
d2-28d sHEEZEZTAY 500,000 500,000 0
401 Al HI K 201 I 500,000 500,000 0
01 A& HI 496,400 496,400 0
Od2-2&(2lk 2025)2t sHEEZ2EEE L
=0.3km 496,400,000 496,400
03 AIE 2 THHI 3,600 3,600 0
O4dE-2&8(2x 20253)2t sHEC2SEE
500,000,000& * 0.72% 3,600
HE-U0Y SOHEZZSHELIIAS 500,000 300,000 200,000
401 AIEHI L 2 CHEI 500,000 300,000 200,000
01 A& Bl 496,400 300,000 196,400
OUZE-UoF(2IE 2108)2 sHEZZERH L
=0.3km 496,400,000 496,400
03 Al 2 THHI 3,600 0 3,600
OUBE-Uok(2lE 2108)2 sHEEEZHEZE
500,000,000& * 0.72% 3,600
ERANES AN 5,034,370 3,160,230 1,874,140
= 190,000
s 4,844,370
Mol S22 507,330 216,230 291,100
201 Let24E] 129,930 70,230 59,700
01 At 22l 31,710 20,710 11,000
OzE+3 g7 ¢ 7,010,000& 7,010
O=di & Zoithz S22 X S4lH|
4,000,000& 4,000
OM&ExY 2Hs 0 150,000& * 9K 1,350
OSEJ Holiths gLX LSH(SHES)
350,000& * 2594 8,750
O3 Uila M= 2¢
50,000& = 12& 600
OAER XA Az2dst A& 10,000,000 10,000
02 =224l 98,220 49,520 48,700
OE2E+3 Uil € MEX] &8s
200,000& = 123 2,400
ONM&EXD &=+ER3 150,000& * 12& 1,800
Oz &el& WHIl sXdl 9,060
-HHI |X 2el 200,000& « 15CH 3,000
-0 A2F(0HI &) 4,2008 * 300 1,260




AN HAEnsSH
B YCALSTE
el SREX B LAY (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-0IHI RS 1,600& = 15CH = 2004 4,800
OMAAZL) SFUH 13,320
-1€ M&EsxZ) S
1,600& = 9CH * 304 =« 103 4,320
-15€ HEAZ) ]
1,500& = 1004 = 304 = 203 9,000
O1EEY KXlH| 13,600
-Z=2| 4| 2,000,000& * 2CH 4,000
-2 1,600& = 200 = 2504 = 12& 9,600
OHM&Jl =2l 50,000,000& 50,000
g2 ATEN(D-DAS, E2UE) DBRAE
> 6,600,000 6,600
OMAEEHI XD POTAEBIAIAE
120,000& = 12& 1,440
206 M = Hl 161,900 72,500 89,400
01 24l 161,900 72,500 89,400
O&itizEs L7 20,400,000& 20,400
ORAFTHUEZEMN &€ 2N 2L
8,000,000 8,000
ootAzm ZTHEM 2 12,0008 * 1,000% 12,000
OMA&EH =8 HUE P2 1,500,000& 1,500
OMEM 2 120,000
-G s 60,000,000& 60,000
-3 60,000,000& 60,000
401 Al HI L ROl 184,000 64,000 120,000
01 A& HI 70,000 10,000 60,000
OwetI|, Xt DXl OFEE M=«
20,000,000& 20,000
OMHAOEE ZEIA 50,000,000& 50,000
03 A& 20 b 114,000 54,000 60,000
OMA &« THol &HHl LX2(15E)
600,000& = 10CH * 103 60,000
OMA L THoH ZHl LIS (24HD1)
600,000& * 9CH * 103 54,000
405 XtabF S| 31,500 9,500 22,000
01 A&t =S F SHI 31,500 9,500 22,000
Oozxesd) #¢ 30,000,000& * 1CH 30,000
OulxI 2 500,000& = 3CH 1,500
2T SUESAY 2,220,920 1,715,000 505,920
401 AIEHIL 20| 2,220,920 1,715,000 505,920
01 Al& Bl 2,200,000 1,700,000 500,000
Ozt RANE=S 1,000,000,000& 1,000,000
Ootetg 72t &l 50,000,000& 50,000




EX: A4 ns
B YCALSTE
el SREX B LAY (el:de)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O2% MEZM (27 =&, L=25km)
150,000,000 150,000
OZ2E T2EXE HHI(27H=H 10004 )
200,000,000& 200,000
OotAZAMN 2| (L=1km) 200,000,000& 200,000
o=t =2 &ddl & 100,000, 000 100,000
OSS-Hot2H(2E113) HIEASE B2
500,000,000& 500,000
03 Al&E 201 Y| 20,920 15,000 5,920
O8N Ex HHYX2 13,000,000 13,000
O=ZE SXNEE AFY
2,200,000,000& * 0.36% 7,920
sSHEEZTZ SAES=AIY 1,721,120 666,000 1,055,120
401 AlEHIZL 2 0HY| 1,721,120 666,000 1,055,120
01 Al&H| 1,700,000 650,000 1,050,000
OsHEE2 FXES 1,000,000,000& 1,000,000
OsHEEZ IHHEC M 150,000,000 150,000
OotAZ M 2)] (L=1km) 200,000,000 200,000
OsH=E=EE=Z &2 ¥Hl S 100,000,000 100,000
=N HULM X CSH(L=0.2km) 50,000,000 50,000
OSSN E (49 A) 200,000,000& 200,000
03 Al&E 201 Y| 21,120 16,000 5,120
OsHEZTZ2RANELAH X2
15,000,000& 15,000
OsHEE2 RAELAY
1,700,000,000& = 0.36% 6,120
=060 & =ZJHHi a2 5,000 3,000 2,000
305 A =2S 5,000 3,000 2,000
01 A =2S 5,000 3,000 2,000
Ota2s 500,000& = 10H 5,000
HelolEs3Y S22 200,000 200,000 0
401 AlEHI 2L 2 0HY| 200,000 200,000 0
01 Al&H| 200,000 200,000 0
SXE 2 (65HA) 200,000,000& 200,000
LogEs A JHAAIY 100,000 0 100,000
= 50,000
= 50,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
= 50,000
= 50,000
01 Al& H| 100,000 0 100,000
Odlat2e] 2 Lo E8S532Y A
60,000,000 60,000




2N
X ZH -
L= B

el

HDowx &

Fp="]
U 0T nx
i Jo

0 MK
=Y om

= H
e oA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 30,000
s 30,000
O&H2el B2y L2557 HEAY
40,000,000& 40,000
= 20,000
e 20,000
MWAE EX AL 280,000 0 280,000
= 140,000
s 140,000
401 Al HI YL 201 Y| 280,000 0 280,000
= 140,000
[ia 140,000
01 A& HI 280,000 0 280,000
OSEAtAHEl JHuIZ EXAE
280,000, 000& 280,000
= 140,000
s 140,000
sy Mo 15,652,888 11,458,757 4,194,131
= 102,649
s 1,570,000
< 681,364
s 13,298,875
NsEASH 15,643,390 11,446,720 4,196,670
= 102,649
s 1,570,000
< 681,364
s 13,289,377
WS S ALY 8,000 6,850 1,150
307 21201 A 8,000 6,850 1,150
02 P SAMHEL 8,000 6,850 1,150
OunsStENEZ ALY K& 8,000,000& 8,000
WSt Ad2e 23 905,780 610,732 295,048
201 ¢4l 57,500 41,166 16,334
01 At 22l 54,000 37,666 16,334
Ounsotd 222 MZEH| 20,000,000& 20,000
OusStlss 2HEE =8 28,000,000 28,000
On=Itet BIIZA ==& 6,000,000& 6,000
02 2324l 3,500 3,500 0
O 0lusSusEAE FA2=H|
2,000,000& 2,000
OEJtMHet JIJI2LH (HIIes3, S48 8)
1,500, 000& 1,500
401 Al HIZ 2018 843,280 569, 566 273,714
01 A& HI 838,000 566,000 272,000




BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
SEEEEEEEEE
1,500,000& * 404 60,000
OuSIl EXIAY 50,000,000& * 20 2 100,000
OUENMAIEE HUIMY (EHES , WEHA
HX &x 8) 60,000,000& 60,000
OLSUES BF 2 H2DAAMY
50,000,000& 50,000
OSgd3zI| EHAY 8,000,000& * 304 24,000
OZES XM 12,000,000& * 200 2 24,000
OSHZYY DEGTAL SNULHAL(SH,
20,88 ,¥9s) 80,000,000& 80,000
OSHEZLA WSATAE RAEBXAL (2,
O e, M2, 2=R) 80,000,000& 80,000
OMOIZI 325 AXA
2,000,000 = 50 A 10,000
OL=HMOAI A 6,000,000& = 1071 60,000
OBtALE & XA 500,000& * 500H 2 25,000
OtIs(HE M3 )23t XA
50,000,000 = 404 A& 200,000
O0ls4al ReleEItbet fFAAX
3,000,000 = 50 A 15,000
O A4 EXAY
1,000,000 = 50 A 5,000
Os=s&EHAs2E o & X
500,000& * 10002 5,000
O0egllnssd = 3AM 40,000,000& 40,000
03 Al 2 0HHI 5,280 3,566 1,714
OuSHHAEE &X RO
838,000,000& * 0.63% 5,280
405 XtatE SHI 5,000 0 5,000
01 XAt = ZFH SH| 5,000 0 5,000
OLSCHEES 228 ML 7
5,000,000& * 14 5,000
S EX XA 2 7,185,000 7,085,000 100,000
307 glz2tol & 7,185,000 7,085,000 100,000
09 2+=HAHEBEXS 7,185,000 7,085,000 100,000
O2+=gHd RII=2 7,185,000
—0f 2H (B A EHA| 720,000,000& 720,000
-StE(8e,Hg ) 6,465,000,000& 6,465,000
HALHd 2AME 7129 27,000 20,000 7,000
207 A RO 27,000 20,000 7,000
01 A3l 27,000 20,000 7,000
OS=HA ZYaM 24 L HULH aad
3 o789 22,000,000& 22,000
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Oset~ SZad 24 & SAcd caa
d 37289 3AHHEZS 5,000,000& 5,000
Sl =424 1,495,631 1,417,631 78,000
< 65,893
[ia 1,429,738
307 gl2tol & 1,495,631 1,417,631 78,000
< 65,893
s 1,429,738
09 2HAHAEXS 1,495,631 1,417,631 78,000
OgHILd 484 1,495,631,000& 1,495,631
< 65,893
[ia 1,429,738
SHEHA SR 24848 361,300 361,300 0
307 glz2+ol & 361,300 361,300 0
09 2+HAHEEXS 361,300 361,300 0
Os=s&EHA tdead =424 361,300,000 361,300
ANU(sHE)HA 2SAY MEXH 1,294,190 994,190 300,000
< 413,002
s 881,188
307 21201 A 1,294,190 994,190 300,000
< 413,002
s 881,188
09 2+=HAHBEXS 1,294,190 994,190 300,000
OsHEHA 2EAY HEXE
1,294,190,000& 1,294,190
< 413,002
[ia 881,188
AUEM BEHA X 240,000 120,000 120,000
< 19,294
[ia 220,706
405 TtabF S| 240,000 120,000 120,000
< 19,294
e 220,706
01 AL EFFHSHI 240,000 120,000 120,000
O2XNEMN 2EHA ¢ 240,000,000 240,000
< 19,294
fia 220,706
HARBAAY 2% U 2 104,400 0 104,400
403 A X EHHSH20IA 104,400 0 104,400
02 SO 2SOIlCHEH A2 X 2| & A I 104,400 0 104,400
OHALED 8ZE &X 3,600,000& = 2904 104,400
AMUH(sHE)HA SEMA HE 20,000 0 20,000
201 Zer24] 2,000 0 2,000




AL S
nsSHE Ho
DEBASH CER-ED
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
01 At 22l 2,000 0 2,000
O8E8 8% W& 50,000& * 20% 1,000
OHA et EE2=2 M 1,000& = 1,0000H 1,000
401 Al HI K 201 I 18,000 0 18,000
01 A& HI 18,000 0 18,000
OHA ANAE(EHE) ME &X
90,0003 * 2000 & 18,000
qE I FHAHMEX F= XS 96,000 67,200 28,800
= 48,000
< 14,400
[ia 33,600
307 21201 A 96,000 67,200 28,800
= 48,000
< 14,400
s 33,600
09 2+=HAHEXS 96,000 67,200 28,800
OANEE Xte SHAEEX FEHIAASE
96,000,000 96,000
= 48,000
< 14,400
s 33,600
sEY WsZ8 AE &Y 600,000 0 600,000
s 300,000
< 90,000
[ia 210,000
307 21201 A 600,000 0 600,000
s 300,000
< 90,000
s 210,000
09 2+=HAHEXS 600,000 0 600,000
O=&8 nezg A XA
600,000,000 600,000
s 300,000
< 90,000
s 210,000
SEgusst 23 120,838 53,316 67,522
307 21201 A 120,838 53,316 67,522
05 RIZt2IEt = 120,838 53,316 67,522
OEgusE+t 24X& 120,838
-QI2AH| 116,377,540& 116,378
-AHERAH S 4,460,000 4,460
Sgus+=H &Y 22X 84,000 0 84,000
= 42,000
< 12,600
s 29,400
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405 XHoHF S HI 84,000 0 84,000
= 42,000
< 12,600
s 29,400
01 AL EZFH S 84,000 0 84,000
OSEuNESHT XA (XHE)
42,000,000& =« 2CH 84,000
= 42,000
= 12,600
s 29,400
SIUEA 29 201,500 158,000 43,500
s 50,000
< 60,400
[ia 91,100
301 et d=s 201,500 0 201,500
s 50,000
< 60,400
s 91,100
12JEE2 4= 201,500 0 201,500
OS|LEA 2EXA 201,500, 000& 201,500
s 50,000
< 60,400
[ia 91,100
Al JIEZH =2 XNIMG(EX) 32,000 17,400 14,600
< 5,775
e 26,225
307 glz2+ol & 32,000 17,400 14,600
< 5,775
i 26,225
09 2+=HAHEEXS 32,000 17,400 14,600
OEAIHNEZN =3 NJ ALY 32,000,000 32,000
< 5,775
s 26,225
BAl HEZH =2 KJAL (XHA) 8,000 12,000 A 4,000
307 21201 A 8,000 12,000 A 4,000
09 2HAHAEXS 8,000 12,000 A 4,000
QEAISIEZ N =22 X AS (XHA)
8,000,000 8,000
BAIS2E EXIAY 20,000 0 20,000
401 AIEHI L 201 20,000 0 20,000
01 A& HI 20,000 0 20,000
OHAls2Z2& & 20,000,000& * 1JH A 20,000
MAX SHAl B 2HXZAL H2EHA 23,760 0 23,760
= 11,880
s 11,880




FAM: A4S
M DsHE A
ool DEWMASA EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
207 A& H| 23,760 0 23,760
= 11,880
s 11,880
01 A ESHI 23,760 0 23,760
OMIAXt BAl B AEHEZA HF2ES
23,760,000& 23,760
= 11,880
s 11,880
FISEHAHOE =53&Y 29 17,347 0 17,347
101 @124 4] 13,347 0 13,347
04 JIZHHZ2XRHESE S+ 13,347 0 13,347
O=ssstaaael 2y 13,347
=0 66,8003 * 1H = 180 12,024
-ALRIEE DRSS 12,024,000& * 11% 1,323
201 £B-2E| 4,000 0 4,000
01 At 2t 2l 2,000 0 2,000
O==staa el Let+=ZH| 2,000,000& 2,000
02 =224l 2,000 0 2,000
O=&sta4a el tetdl 2,000,000& 2,000
=Y RS 286,798 162,643 124,155
201 £B-2dH| 89,998 87,483 2,515
01 At 22l 15,300 12,905 2,395
OFFXNYS =& 6,000
~E=F3 9N BEHESEF K0
300& = 10,0000H 3,000
SFIA NE L E2E HOMH
300& = 10,0000H 3,000
OYXIXtE Aol 70,0003 = 40CH 2,800
OSY=ZX JI&AHE 08 ==&
80& = 10,0004 800
OESY=ZX 28 23t
50,000& = 500H 2,500
OFHIHSSH USH (EMEI)
200,000& = 69H 1,200
OFHXGE U NELLET S|
1,500,000 1,500
OdEIHE 42 e =2 500,000& 500
02 =224l 74,698 74,578 120
OCCTV ¢ 2= ¥ &IIe3
120,000& = 128 3604 51,840
OCCTV & Xl 2 ==t 21,000,000& 21,000
ON&AHE =EAIAE SR 22
140,000 * 123 1,680




FAM: A4S
M DsHE A
Sl REMASH (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ORHYINSXH HIIUs S+
3,550& * 50CH 178
202 O4dl 11,800 11,160 640
01 = LHA YI 11,800 11,160 640
Onsdsd YR=A ol 10,800, 000& 10,800
SONT ES O 4257 oyl
1,000, 000& 1,000
401 Al B2 28I 130,000 64,000 66,000
01 A& tI 130,000 64,000 66,000
OFZXEts Jtbllct dsHE ALY
50,000, 000& 50,000
OFEXUSX A2 =M 40,000,000& 40,000
Oxdg =8 FHX SHAIAE Xl
40,000,000& 40,000
405 THobH S| 55,000 0 55,000
01 AL EFH S 55,000 0 55,000
O=sY =3 &aXeE UM
45,000,000& = 104 45,000
O2Y =3 o AHE 3d3FH ¢
5,000,000& = 20H 10,000
2SS SEIDX ZHAS 1,740,000 0 1,740,000
s 1,220,000
[ia 520,000
401 AIEBIZ 201 8I 1,740,000 0 1,740,000
s 1,220,000
[ia 520,000
01 A& HI 1,740,000 0 1,740,000
Ozt Xsi SEXDX &AL
1,740,000, 000& 1,740,000
s 1,220,000
s 520,000
OE SAHDE =4 MY 1,538 0 1,538
= 769
s 769
405 TtHabH S 1,538 0 1,538
= 769
[ 769
01 AL EFSHSHI 1,538 0 1,538
OEgEYoHet EXlEY 2
769,000& = 2CH 1,538
= 769
[ia 769
HHEsE2C2Y 61,058 32,458 28,600
201 et 23,458 17,558 5,900




EX: A4 ns
MM NESHH WA
Sl REMASH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22l H| 22,138 16,838 5,300
OXNSXHESE HA HEH
4,0008 * 8 x 100& * 90% 2,880
OXNsx g2 =222 M 300,000 = 10 3,000
OXsSX Vel DXAM HE
77,0008 « 108tA x 6= * 90% 4,158
OAHEINHESE L EANE HA HE
4.000& * 8% » 100& * 90% 2,880
OXNHES=EL Lbt==2H| 1,500
-2A(84) 1,000,000 1,000
=1 500, 000& 500
OXsEe=) A28 22|
30,000& * 204 « 128 720
OzMALE HIZAH E22 i M
100,000 = 10904 = 13 1,000
OAHEIH FIIHES O =H|
200,000& * 5 1,000
OHEINHESAIHEE S 2HEFY
2,000& * 2,500& 5,000
02 =224 H| 1,320 720 600
OXNsEI KA
30,000& * 204 « 12& 720
OAHEINHXETEAMHE S L3I FAE4HI
100,000& =~ 6& 600
202 044l 12,600 12,600 0
01 2L I 12,600 12,600 0
OXNHESEGLE=E | 12,600,000 12,600
405 Ko SHI 25,000 2,300 22,700
01 XAt 2 Z F S| 25,000 2,300 22,700
OHEINHESAMHFAS pvedtE L3D|
25,000,000 = 14 25,000
=25 YANEEA &1 709,250 0 709,250
201 Bt 16,000 0 16,000
01 AP 22| H| 16,000 0 16,000
OYANAEFZA CHYEHEX B, 2t S)
10,000,000& 10,000
OUANERAE EES 4,000,000& 4,000
oOLrRE oy 2,000,000& 2,000
307 2I2t0| & 50,000 0 50,000
05 QIZ2tE 2 50,000 0 50,000
OYUANAEEZA 2H9AHA 50,000,000 50,000
401 AlEHIZL 2 0HY| 625,000 0 625,000
01 Al&H| 625,000 0 625,000




SN ASDED
M DsHE A
Chel: nsHASH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYANBEL AX S A 625,000,000& 625,000
405 TtHabF S| 18,250 0 18,250
01 AL EFSHSHI 18,250 0 18,250
OgANE=FA EX =257 18,250, 000& 18,250
N el &=2r2 9,498 12,037 22,539
e 2el 9,498 12,037 A 2,539
101 @124l 8,898 12,037 A 3,139
04 JI12ZtHZ22HEE = 8,898 12,037 A 3,139
OMgH == & FFAUA SN AFEY 8,898
-=0 66,8003 * 198 » 120 8,016
“ALR EEOI 2R E S 8,016,000& = 11% 882
201 £B-2dH| 600 0 600
02 =24l 600 0 600
OZAQIA HMEEXSIAAE & J|I] FXE=HI
100,000& * 6 600
HE2IAZH (AL nSH) 43,994 39,744 4,250
Jl2dd (A& nsEn) 43,994 39,744 4,250
JlE2&tl 43,994 39,744 4,250
201 Let2d] 36,894 33,144 3,750
01 At 221l 33,790 30,040 3,750
Oget=&H| 6,700,000 6,700
O= &l 9,930,000& 9,930
O=SAD Xtz 200,000& * 200 » 12& 4,800
O&F=D Xz 40,000 * 1CH = 128 480
O#EIH 223 24| 11,880
-ZfZeH 6,160
- EY 440,000% = 10# = 43 * 33 5,280
cg 440,000 * 1CH = 23 880
-otIely 200,000& = 1104 = 23l 4,400
-EAHEH ¥ E3)
200,000& = 1CH = 33 600
—-FAX 120,000& = 200 = 33l 720
02 =224l 3,104 3,104 0
OdHFZEH KRAE=Hl 3,104
-CIIsS AR 1] 1,300,000& = 28CH * 5% 1,820
-Tglg 4,000,000& = 1200 = 2% 960
-5 AHJ| 15,000,000& * 1CH * 2% 300
—FAX 600,000& = 200 = 2% 24
202 O4dl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
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